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1. (@) Write True or False : 1x4=4

() Management accounting is con-
cerned with accounting information
that is useful to the management.

(ii) Cash flow statement is useful for
short-term financial analysis.
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(2) (3)

(i) Marginal Cost = Total Cost — 3. (a) “Management accounting is nothing
Variable Cost. more than the wuse of financial
. . information for management purposes.”
tary 1 tem of m
) f;l:tlelm gz:ttr o 18 & 5ys Explain this statement and clearly
g ' distinguish between Financial Ac-
ay s : 1x4=4 counting and Management Accounting.
(b) Fill in the blanks 6+8=14
() decisions limit the usefulness

Or
of management accounting.

(b) Discuss, in detail, the functions of

(i) Income tax refund is an of management accounting, 14
cash.

(i) Fixed cost per unit when : 4. (a) From the following Balance Sheets of
volume of production increases. X Ltd. Co. for the years 2019-20 and

202021, make out—

} i () schedule of changes in the working
capital;

(iv) Flexible budget is a budget.

2. Write short notes on any four of the (i) statement of sources and

following : 4x4=16 application of fund : 7+7=14
(a) Limitations of management accounting Capital and Liabilities 31.03.2020 31.03.2021
g
(b) Funds from operation Equity Share Capital 3,00,000  4,00,000
Profit.vol i 8% Redeemable Preference Share 1,50,000 1,00,000
ofit-volume ratio

L Capital Reserve —_ - 20,000
(d) Differential cost General Reserve 40,000 50,000
Profit & Loss A/c 30,600 48,000

(e) Zero-based budgeting Proposed Dividends 42,000 50,000
: Sundry Creditors ' 25,000 47,000
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Capital and Liabilities;

Bills Payable
Expenses. Due

Provision for Taxation

Assets

Goodwill

Plant

Land

Investment,

Sﬁndry Debtors |
Stock-in-Trade

Bills Receivable

Cash in Hand

Cash at Bank
Preliminary Expenses

(4)

31.03.2020 31.03.2021

4 4
20,000 16,000
30,000 36,000
40,000. 50,000

6,77,000 8,17,000

31.03.2020 31.03.2021

4 4
1,00,000 80,000
80,000  2,00,000
. 200000  1,70,000
20,000 30,000
1,40,0000  1,70,000
77,0000 1,09,000
20,000 30,000
15,000 10,000
10,000 8,000
15,000 10,000
677,000  8,17,000

Additional Information. :

() A machine has been sold for
¢ 10,000. The written-down value of
the machine was ¢ 12,000. Depre-
ciation of ¥ 10,000 is charged on
plant in 2020-21 |
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(b)

5. (a)

Period—I
Period—II
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(5)

(i) A piece of land has been sold out in
2020-21 and profit on sale has
been credited to capital reserve

(iii) The investment in trade investment

3,000 is received by way of
dividends including ¥ 1,000 from
pre-acquisition which have been
credited to Investment A/c

(iv) An interim dividend of ¥ 20,000 has
been paid in 2020-21

Or
What is cash flow statement? How is it
prepared? Distinguish between a Cash

Flow Statement and a Cashbook.
3+7+4=14

From the following data, calculate—
(i) profit-vohime ratio;
(i), fixed cost;.
(iiij sales at break-even point;
(iv) sale required to earn a profit of
¥ 20,000 : 3+3+4+4=14

Sales Profit
e g

1,00,000 15,000
1,20,000 23,000
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(6)

Or

() What do you mean by marginal costing?
Discuss its usefulness and limitations.
2+7+5=14

6. (@ A manufacturing company manu-
factures two Products X and Y. An
estimate of the number of units
expected to be sold in the first seven
months of 2020 is given below :

Months Product—X = Product—Y

- (Units) (Units)
January 500 1400
February 600 1400
March 800 1200
April 1000 1000
May 1200 800
June 1200 800
July 1000 900

It is anticipated that—
(i) there will be no work-in-progress at
the end of month '
(i) finished units equal to half of the
anticipated sales for the next
month will be in stock at the end of

each month (including December
2019)
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(7)

The budgeted  production and
production cost for the year ending
31st December, 2020 are as follows :

Product—X Product—Y

Production 11000 units 12000 units
Direct Material ¥ 12 per unit € 19 per unit
Direct Wages ¥ S per unit € 7 per unit
Other Manufacturing

Expenses (apportionable

to each type of product) ¥ 33,000 ¢ 48,000

You are required to prepare—

(i) a product budget showing number
‘of unit to be manufactured each
month;

(i) a summarized production cost
budget for six months period from
January to June 2020. 8+6=14

Or
(b) Define the terms ‘budget’ and

‘budgetary control’. Explain in detail the
classification of budgets according to—

(i) time;
(i) functions;
(i) flexibility. 2%+2%+9=14
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3. (a)

(b)

4. (a)
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©Y IJFH IMRI AT 93 7= 7w
IR MR Roress oF ARveE
o’y e =g IR e - 6+8=14

T
AT RO FROR IR AT F91 | 14

e O@y 91 X Ltd. Co.g 2019-20 HF

202021 IR g @z fm 9 WR
_E—

(i) PR T <R AR Py
(i) R Tt = TR RIS e 741 ¢

7+7=14
A 9F (PR 31.03.2020  31.03.2021
B =t
e A 3,00,000  4,00,000
8% SNRIRYS ot 1,50,000.  1,00,000
TR — 20,000
SR 40,000 50,000
FArS- R Bt 30,000 48,000
AT AR 42,000 50,000
Rk nsmR 25,000 47,000
Sl ECREC 20,000 . 16,000
4B ¢l 30,000 36,000
HRIRI 7T . 40,000 50,000
_6,77,000  8,17,000
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( 10 )

Sooffe 31.03.2020 31.03.2021
B o
SR 1,00,000 80,000
TS 80,000 2,00,000
T 2,00,000 1,70,000
Rfsz 20,000 30,000
ARy e 1,40,000 1,70,000
TS 4D 77,000 1,09,000
aren Ra 20,000 30,000
Each: | 15,000 10,000
RS &l ‘ © 10,000 8,000
AR | 15,000 10,000
6,77,000  8,17,000

g ooy :

fi) <% @7 10,000 o1 RF 7R | T
@PTROR ST QAR A D
12,000 %311 10,000 B 2020-21

R I3 ST 4 90 R
(i) B3I WO 2020-21 (S RS

IR com

~ S Y41 ey oo & 791 (7R
(iii) 3,000 51 RFCHR S¥FE et o
O] I°© 1,000 B ws@i AR (202
wiF T Rt Rorere s #41 txg
(iv) GBI TGFAT ASRY 2020-21 DR
IR 49 I OXR S@ O A

20,000 591
2R

(b) = o2RR RIS Iferear R e 7 om ez R
FAF 2FS T W W AR R ue
FTERT TS G AT Teard 41 |
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5. (@) Pare SR TS A4 =1 :

(b)

6. (a)
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(i) ST TS SIS
(i) B
(iti) =TS e Rqe RER «Ra

(iv) 20,000 T3 e FRIW I AEEAE
R&EF =R

R& qS
= =
ST 1,00,000 15,000
SRR 1,20,000 23,000
’ {1
o I FPra o B 2 TR IRIRS
R MARGSPZ A 91 |

B! BRI @RI X W Y AN 7l
H3 o 03 | T PR 2020 T AW S

IZS o F91 RER R oo fown =

"= TI—X TI—Y

(caize) (coii5o)
SR 500 1400
R 600 1400
s 800 1200
<fa 1000 1000
a 1200 800
LUl 1200 - 800
Laled 1000 900
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Beorm 11000 ¢516 12000 ¢51i6
AT AT I 12 531t ofS conbe 19 5 afSs caiee
eror TR stetF afS conibs 7 ST ofS oo
SR oA I (2R ,
TR RS ReI9C190) 33,000 51 48,000 531

BATE TP [{—

() 9 TeoE ACED oEe IR A TR
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(i) 9% o
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oS 91 | 8+6=14
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